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Note / ATe:
1. This question paper contains total eight questions.
TH T T H T A8 T &

2. Attempt any five questions including compulsory question No. 1.
A aTd 7o Ja< 1 giad gl o TI7 & 3L <ITor |
3. Each question carries equal marks. Marks are divided and indicated against each part of

the question. Write answer in legible handwriting. Each part of the question must be
answered in sequence and in the same continuation.

AT TST F T 0 21 9T F oty g % 91 ¥ wekw 9 F fawg i e
AT g1 3Y +0E forEmae # e W o Todsh AT &7 397 ST w7 H (<37 ST AT Ul

4. Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
question shall be counted even if attempted partly. Any page or portion of the page left
blank in answer book must be clearly struck off.

ST o I w0l TUMET HATTETE Al SITOIT| TS FTeT Tl @, AT T 6 IAL o0l TUMET %0f
STTUR{T 978 @ SO 37erd: &3 97 g 3 It ¥ @Tet GIST gol I8 IT I8 39T il
TIY TY § FHlel AT AT 0]

5. Re-evaluation / Re-checking of answer book is not allowed.

SALTEART o TR [ T ST 6l AT ol 2

1. Differentiate between the following (very brief : 80-100 words each): (20)
777 & fa¥q PIfoTy (Gga wiereT 80—100 g HAP)

(a) Seedling seed orchard and Clonal seed orchard
gler §io7 Qe 3K Tl dir SEnrT
(b) System of concentrated regeneration and system of diffused regeneration
HBIET GBI UG 3V FER Jecaia gid
(¢) Ex-situ and In-situ biodiversity conservation
BT I ¥T—3ITATAIT SIqIIQerar wveror
(d) Standard volume table and commercial volume table
YOSS ST WIRYfT ¥ STqIReE ST IR
(¢) Random sampling and non-random sampling
IIgleered Ficqaa vq % A1gieed giaeT
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(f) Monoecious and dioecious
YISl SiIN Yeplorrsret
(g) Grafting and Layering
SYRITYT SN GT9 ST
(h) Mechanical thinning and Ordinary thinning
T~ AT 3V AR [aver
(1) Orthodiox seeds and recalcitrant seeds
e &I 3N GO dioT
()  Geometric principle and trigonometric principles of height measurement of tree

geT Bl HIYT P SIHART igT=T vq [FpIoacia Rigr

‘Classification of forests by Champion and Seth is based on ecological system’. Explain.
Give detailed list of forests found in Himachal Pradesh based on this. (20)
ARTT SR WE @ FNT 59 T g #T THIBRT GIRRYla®! TF Uv STEIRG &
GRT PN | BT TR P AR [GATIT HQI H G W el g9 & HPR Pl
TN §IY |

. Write in brief about phenology, silvicultural characteristics, regeneration methods and
tending operations of Shorea robusta. (20)
el @& FEqolldd), 99 e @99y, gavecyra 1Al va aikarer Gibardl &1 wierd
qufT BT |

. Describe the objectives of tree volume measurement. Discuss the methods for
determination of volume of standing trees. (20)
gey ST HI9H P GGyl Pl [fEd | s gell & rgaT A9+ @l [l @) fadeeEr
PIfSTY |

. (a) Define biodiversity. Describe the importance of biodiversity and how will you
conserve it? (10)

519 fafderar &I gRYIfRT &Y | Siq [Qfdear & @8 &1 quia BIfory Telr 39 g9HT
e B PR

(b) What is the concept of social forestry? Elaborate your answer with its scope,
objectives and types citing suitable examples. (10)
ARG i@l & FT RIgd 87 U IaR &I S99 UWId &3, Sgavd U4
UBRI T SUYHRT IETEXUN SR RN BIfTY |

. (&) What do you understand by Plant Succession? Describe cause and kinds of
succession.

9Iqy 3fTade W 39 T WHST &7 UGy 3IadT @ HINU UG BN B N H
ool IOy |

(b) Define biogeochemical cycle? Describe the nitrogen cycling in a forest ecosystem.

(10)
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7. (a)

(b)

S (S19) Y—¥ETgT G Bl gNaed BR[| g7 GIRReIAE aF H TSI a &l
JurT BT |

What do you understand by coppice system? Describe in brief, different types of
coppice systems and their merits and demerits. (10)

V[T IRIET UGId | 379 T GHSA &7 fAfT APR & W[ HRIET UGIadl &7
R quT BIOTY TT HAE B oI d BNl B Jargd |

Classify forest soil types. What types of erosion control measures can be used in
steep slope in high rainy area? (10)
I HaT & HHRI Bl qiipd PIfory | Iz quf &7 & @GSl Sl G¥ [H¥ HbIN BT
BT I JUIT a7 ST T &/

8. Describe the salient features of National Forest Policy, 1988. How does it differ from

1952 Forest Policy? (20)
NI g G, 1988 @ HHYT 139Gl &1 U @N7 IE 1952 P 99 ANd H [b
JHIN =T 87
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